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Simplicity of C(IFs)
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Lemma 1. Let H = Hy @ H; be a Hilbert space and Hy, Hs orthogonal subspaces. Let x € B(H)
with x(H,) € Hy and U; € B(H), 1 < j < n be unitary operators such that U U;(Hz) C Hy for
i#j. Then

1> UU; || < 2v/n]l]].
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For v = 0,1 consider the linear map T} : C(F3) — C}(F2) given by
v 1 - i —1
Tn (y) = ﬁ Zuuyul/ :
i=1

Then T is a contraction for all n € N, hence bounded.

Lemma 2. Forv =0,1 let Fy CFy be the set of all reduced words in ur'. Then

. y ifyely
lim T” =
'rLl—>Ilgo n (y) {0 else

for any y € Fs.
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